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1. Answer the following as directed - 1x8=8

(@) Which of the following statements is
not correct?

() Scarcity is the Cause of all
economic problems.

(i) Market mechanism can solve all
economic problems.
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() Under monopoly, supply curve has
(iii) Consumer is sovereign in a

socialist economy. (i) a positive slope

(iv) In. economics, all the problems are (i)' mEgatyeplops
microeconomic in natyre, (iii) a slope =0

( Choose the appropriate answer ) (iv) None of the above

i er )
the appropriate answ
(b) Define opportunity sets, ( Choose

(c) The income effect op the demand for

. ; and production
inventing products coordinating

techniques and for der
( State True or False ) functions of entrepreneurs un
dynamic conditions?
(d) Mention any one use of the income
elasticity of demand,
the
2. Write short notes on any four. at 4x4=16
(e) In case of Giffen gdods intome and following (within 150 words each) :
substitution effects ’
) : (@) Scope of economics
(i) work in the Same direction
(ii) work in the opposite direction o )i plastispang AP 5l
(i) move in uncertaiy Siranl (¢) Choice between leisure
' consumption
(iv) can’t be said ards
o (d) Government policies to
oose the appropriate answer ) competition
(9 What is marginal rate of substitution? i e A
Turn Over )
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( 4 ) (5 )

3. (@ (i) “Positiv
e economics is divi : y
descriptive elccosml);(-jmded oLty (ii) Analyse the following cases for a
; 2 ics and rve :
:f::;ormc theory.” Eluci A e demand curve . 4
FAcH 5 (1) If there is a change in the price
of a good or a service

(2) If there is a.change in income,
preferences, Or prices of other
goods or services

(i) What are the basi
aSIC problems of
Z;ongmy? Why. do these probleriz
se? Do all kinds of €conomics—

rich and
poor, developed
underdeveloped—face tl'ie i >

basic problems? Dj same
¢ 1SCuss. 2+ e
2+3=7 (b) (i) Explain why a situation of excess
demand will result in an increase
5 in the market. 3
; A (ii) Define elasticity Of. demand.
(®) (1) \]g/_hat is an economic model> Explain why a good with positive
jeaitefhowivon can develop an price elasticity of demand must
cconomiciifmodel by takj violate the law of demand. 2+3=5
suitable example ng a 2 .
. 2+6=8 (iii) Briefly discuss the concept of
ii . deadweight loss. 3
(G WERtSiSEa. ‘eraphotoier iy
Eurposes served by grap}rll the
conomics. S in
1+3=4 )
5. (a) (i) Mention the basic decisions that
every household must take. Also
4. (a 1 : discuss the factors influencing the
@ () gghat 18  meant by quant: quantity of a given good or service
ag ded? Distinguish bepmer. omanded by a single household.
EeShn u ¢ en DB
and Changes 2| lralnt]aty demanded
mention the prope iemand.  Also (i) Discuss the concept of budget
curves, perties of demand constraint with the help of an
2+3+2=7 example. 4
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( 6
) (7))

Or |
7. (a) Explain the following ccincepts using
i iaprams/examples :
suitable diagr / ol R

consumer Preferenceg (i) Derived demand
(i) Define indiferep.. o (i) Productivity of an input
briefly th C€ curve, pj A
2 e I SCuss : t of labour
mdifferenCe Propertijeg oy (iii) Marginal produc ivity
Curve, S LE (iv) Marginal revenue product
Or

market? Discuss how

6. (@) ' (i) Expla;
plain with i
ec . ex b (i) What is land m i
of O: olesand the aémples the v) rent is determined. 2+5=7
of scale. Hoy, "¢ diseconomies lain briefly the
iseconomieq €Conomies anq (ii) State and exp ?{t s 4
marginal productivity s

of s
the shape of the Lacy® determine
i7) « AP s 7
() hg;:ihnmg S 4+3
€S
eventya]] Haat L N e
Explain Y rise R EAst il
hel the Stateme Output.”
P of diagram 0t with the
4

Or

(b) (i) What e on
Xistence 0};01}’?1' How does the
affect close g :
are thet hse()umonopoly powetl:? S$E;i
ok rces of Mmonopoly? 949 +3=7
&  brief
g0vern note

com rfli?nt Policies onl, the

petltlon‘ tOWards
4
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